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                 TIME: 2 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS

Question One (30 Marks)
a)
(i)
What is tax evasion?






(2 Marks)


(ii)
Outline four (4) causes of tax avoidance in Kenya.


(4 Marks)

b)
Explain the following terms as used in taxation:


(i)
Year of income






(1 Mark)


(ii)
Residence for body corporate





(2 Marks)


(iii)
Taxable income






(1 Mark)

c)
(i)
How would you classify the following dividends in terms of qualifying or 

non-qualifying?

(I)
Dividends from Kenya Commercial Bank


(1 Mark)

(II)
Dividends from Wakenya Pamoja Sacco


(1 Mark)

(III)
Dividends from Abagusii Self – help group


(1 Mark)

d)
(i)
What is a withholding tax?





(2 Marks)


(ii)
Discuss three (3) benefits of withholding tax.


(3 Marks)

e)
For each of the following cases, indicate the taxable amount, where necessary, giving relevant explanations for each:


(i)
A boy of 14 yrs receives an inheritance of Ksh. 1.5 million from his grandfather.










(2 Marks)
(ii)
A retired teacher receives a pension of Ksh. 410,000 per annum from a registered pension scheme.






(2 Marks)
(iii)
Mr. Osoro sells a piece of land that he bought four years ago in Mosoto, making a profit of Ksh. 7 million.





(2 Marks)

(iv)
Anna Chelimo wins Ksh. 30 million in the London marathon.
(2 Marks)

(v)
ABC Ltd receives a dividend of Ksh. 40 million from XYZ Ltd in which it controls 10.5% of ordinary shareholding.



(2 Marks)

Question Two (20 Marks)
Mr. Bouke is an employee of Ouru Ltd in Kisii.  During the year 2014, he reported the following incomes:
· Basic salary Ksh. 82,000 per month (PAYE Ksh. 11,000 p.m)

· He earned a net investment income of Kshs. 370,000 during the year from his investments in housing development bonds.

· The employer provided him with a house whose market rental value was Ksh. 54,000 per month.  The employer deducted 6% of his basic salary per month as nominal rent.

· He contributed Ksh. 23,000 per month to a registered pension scheme.  The employer contributed Ksh. 18,000 per month for him to the same scheme.

· He received entertainment allowance amounting to Ksh. 40,000, which he utilized in celebrating his birthday.

· He received a year end bonus payable to executive staff (he was the HR manager) of Ksh. 80,000.

· The employer provided him with electricity at a cost of Ksh. 15,000 per month.

· During the year he was declared the best employee and the employer paid him a reward of  Ksh. 100,000.

· He received medical benefits amounting to Ksh. 23,000 from his employer.  The scheme covers all employees.

Required:

Compute the taxable income of Mr. Bonuke and the tax liability (if any) for the year ended 31.12.2014.









(20 Marks)

Question Three (20 Marks)
a)
List any four (4) offences under the VAT Act that can be committed by a trader.












(4 Marks)

b)
Explain four (4) duties of the local tribunal.




(4 Marks)

c)
Omacha Enterprises has provided you with the following details in respect of transactions for the month of March, 2015:

	Date
	Particulars
	Amount

Ksh.

	March 4
	Purchases from Dubai
	580,000

	March 5
	Purchases from a unregistered supplier
	500,000

	March 6
	Sales of spare parts to Mr. Merara
	150,000

	March 15
	Sales to Mr. Kariuki
	300,000

	March 19
	Purchases of spare parts from England
	10,000,000

	March 21
	Sales of new spare parts to Michael 
	600,000

	March 23
	Purchases of spare parts for his car
	200,000



Note:
· All the transactions are inclusive of custom duty are VAT.

· Mr. Kariuki passed on the same day the sales to him were done.

Required:

(i)
Calculate the VAT payable/refundable by Omocha Enterprises for the month of March, 2015.







(8 Marks)

(ii)
Omocha Enterprises failed to pay the VAT as at the date required, explain the penalty in such case.






(4 Marks)

Question Four (20 Marks)
a)
Explain any four assessments that are available for any tax payer.

(8 Marks)

b)
What are the requirements for a successful objection appeal?

(8 Marks)

c)
Differentiate between forward tax shifting and backward tax shifting.
(4 Marks)
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